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interface Examplelnterface { var myVar: String // abstract property fun
absMethod() // abstract method fun sayHello() = "Hello there" // method with
{ default implementation
o g Cuuals gs T J3Is g pul aidLw "Examplelnterface” pb oo Lhuwlg UL JUio o
Ll oaui Lol gy Sy oS LauaS o83 () sayHello® pL L 5358 oy . puyls eljil
S 50 2l adab Sy s | UL hulg bo g JUio g
interface Examplelnterface { var myVar: Int // abstract property fun
absMethod():String // abstract method fun hello() { printin("Hello there,
Welcome to TutorialsPoint.Com!") } } class Interfacelmp : Examplelnterface {
override var myVar: Int = 25 override fun absMethod() = "Happy Learning " }
fun main(args: Array<String>) { val obj = Interfacelmp() printin("My Variable
Value is = ${obj.myVar}") print("Calling hello(): ") obj.hello() print("Message
from the Website-- ") printin(obj.absMethod()) }
D3> 50 0501 355950 33 1 ) 52945 UL sl S
Calling hello(): Hello there, Welcome to TutorialsPoint. Com!
Message from the Website-- Happy Learning
oLiio (5l 6205 Lol 338 505 5 bty ) S 1 Ul )lgs palilS cxud 0iaS LB oS jghslas
xS L2l gloj Sy o huwlg 9 i by jSICuwl Ddlys J18
oS 5o [zl adiab S 5o 1) b gTewlsl s g o jlw o huwlg 93 ) JUio 5o
A { fun printMe() { printin(" method of interface A") } } interface B { fun
printMeToo() { printin("l am another Method from interface B") } } //
implements two interfaces A and B class multipleInterfaceExample: A, B fun
main(args: Array<String>) { val obj = multipleInterfaceExample()
obj.printMe() obj.printMeToo()
PL 6u sl adub J3Is g @, byl scislw 63905 huwlg 9> UL JULio >
UL gld 3S .l 63,5 3ol 1) dgs 050k 638S UL oS huwlg 9> "multiplelnterfaceExample”
LBl saslgs Ginles 6 5S 930 4> 1 52942
method of interface A
| am another Method from interface B
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private class privateExample { private val i = 1 private val doSomething() { } }
S BB alslS Juld S, s g5 g i aio g VprivateExample” 5 oaub UL Jlio o
pUcl qplel Sgb 53 Lradib ylgic 6o by T g oo 6S 390 6300 6sS Uid I S dgy Saslgs
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class A() { protectedvali=1}class B : A() { fungetValue() : Int{ returni}}
Jo BB Uitiu o) gl b (gl hid comuis > il 630 el 630k culidlao i jusio (UL JUio o
owl 03 Lo
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class internalExample { internal val i = 1 internal fun doSomething() { } }
920 15995 (lgiac 6u juRio g Cuwl 630l Lazio "doSomething® L L sikio (UL JUio 4>
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class publicExample { val i =1 fun doSomething() { } }
Al (0908 o8 Uiy ygb o o

03L&l b . ouiS (0 s Soguy PL og GualilS ijgeT 3032 Siug Sy 3 g0 43 iy il s
285 b Slgs g9y 51> S S L 08 Lal | Mo gl 3,58 39 paslgS 5315 cSiguy
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35w 50 ¢« Cuwl SolgSd B (L) OIS jgiws jloslaiwl b oS )aolgsd (Juld 5,818

) JUo 53 3058 iy e il (g sdiab jl 2)L5 Mo Sy 33 50 6] ulilS 355518 Sogay S
.3l (50 IJ?IGAJSJIS&bszb::MJg.b.?oSMU.o
class Alien
{ var skills : String = "null" fun printMySkills() { print(skills) } } fun main(args:
Array<String>) { var a1l = Alien() a1.skills ="JAVA" //a1.printMySkills() var a2
= Alien() a2.skills ="SQL" //a2.printMySkills() var a3 = Alien() a3.skills =
al.addMySkills(a2) a3.printMySkills() } fun
Alien.addMySkills(a:Alien):String{ var a4 = Alien() a4.skKills = this.skills + " "
+a.skKills return a4.skills }
o jgass Lol pulss "()addMySKills® pb ou "Alien® g edub J31s gxio aus (UL Jlio 5>
ol S3gaug (593 izl LS oo ol edub (il L 632 5o |y ddo
33138 o Uiiglas oy 45930 43 1) 12j 529> UL sl S
JAVA SQL

Jleslatiuwl b Joe ol 338 ol ) Iglo culs 3,58 b Cuwl 038 skl 1y (550 pjusSo ulslS
51950 (05180 ¢l jl esliiwl b .l plasl Jo 18 "companion object” g o jlgauls
L 1y sdo 9T pwlgs o yuasw g pusS slayl factory method S, J31s odib S, jl g3guai0
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fun main(args: Array<String>) { printin("Heyyy!!!"+A.show()) } class A {
companion object { fun show():String { return("You are learning Kotlin from
TutorialsPoint.com") } } }
D3B3 o YLiss JS)950 43 |y ) 529> UL sl S
Heyyy!!! You are learning Kotlin from TutorialsPoint.com
Ulos guac o ylgic oy Sguado Sy oyls =819 Yloj s bol Cuwligls 4> ol Jho UL JUio
O gl 0y NG5 (50 9 s B Mgy ol SIS 68 Cuwl T Juds ol oo jlw 50 sdab
L odab (las Sguado Syl Laud (S jgb o -394 0351951438 jub Sgua80 Sogauy S ylgice
318 o3kl Lacl gla 53818 I hidy jI B suds (0 i yiwS

w0 b Sy ) 50 B2 GlSS Gauzgs sl gl (g 031 (gl sdub 3590 5> Gy gzl o
030k gyI3S PL "data” ¢lgic ou 65 63 gl gyI3S Cuole 6313 g odub Sy ylgic 6y Milg3
)_HJ[S@!.QL'HIJIJ:LE o 3415855 I35 o jl 1) Slol gl 631 lgs (50 odub 95 (il LS
Sl oS0
JB15> 50l odgl (g 030 Lw S g saui b acubls ocdgl g 630w Sy 3ab 031y (gl odab (g w0
SS8 l puslgs (50 b LSJI';S PL 831> jlgic 6y odib Sy oS gy L SuBL okl yiolybL So
s &b o .ouaS oslawl o3¢ g "()toString()”,”hashCode” Jio 6515 (g odub T 595
0 0315 g daub SBL okl (39 5 L L L seljisl Jho (gl 053 s M3lg5 (05 (gl 051>
2 jlw 50 0313 (5 b Sy g JUio 5o . 30b UlpiwS j503 (sl disb o Migs
fun main(args: Array<String>)
{ val book: Book = Book("Kotlin", "TutorialPoint.com", 5) printin("Name of the
Book is--"+book.name) // "Kotlin" printin("Puclisher Name--"+book.publisher)
// "TutorialPoint.com" printin("Review of the book is--"+book.reviewScore) // 5
book.reviewScore = 7 printin("Printing all the info all together--
"+book.toString()) //using inbuilt function of the data class printin("Example of
the hashCode function--"+book.hashCode()) }
data class Book(val name: String, val publisher: String, var reviewScore: Int)
Pl 65l 031> (5 b S, S (o . 3513S o Uinlad o JS)930 43 ) guj 5295 UL gl SS
I G piaws Uil 631 glacl s oy Lol 355518 jl g 3uS g)15gS0 ) b 631> jlI g3lass b
.ozl 05,S
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Name of the Book is--"Kotlin"
"Puclisher Name--"TutorialPoint.com
Review of the book is--5
Printing all the info all together--(name-Kotlin, publisher-TutorialPoint.com,
(reviewScore-7
Example of the hashCode function---1753517245

odizb jl £95 2! -02j90T (0 03 oliusy 0diab L oy (5550 (g odiab £95 3590 J> iRy (2l >
O gl 69 0300 Sy .Gl (50 63wl 630% 39320 g daub il jo odudw 31 LES (gl
Gl DS gylagSs |Jun.'>.£h.oLﬁ;#_jlégbd,“503bégbo.SAmbuo Iy oSl ¢pol 033>
odub oyl 5 63uaS [yl gylgic oy "sealed” (5 6j195:S j1 3oL <630 oy (g odub Sy Sl
32 Ol Eles ol suibl sciils 1) 3g5 g b odiab 4o 35195 (50 6308 oy wUS S, .S o5 laiwl
39952 Juj Jlio 4> .35 plel 630 oy (5 &b b GulilS Jol8 glass J51s 30 o o
S0 |y 630l 8y (g owub l o3 latiwl
sealed class MyExample
{ class OP1 : MyExample() // MyExmaple class can be of two types only class
OP2 : MyExample() } fun main(args: Array<String>) { val obj: MyExample =
MyExample.OP2() val output = when (obj) { // defining the object of the class
depending on the inuputs is MyExample.OP1 -> "Option One has been
chosen" is MyExample.OP2 ->"option Two has been chosen" } printin(output)
}
£9° 9> hidd 331g5 ;0 63 oyl "MyExample™ pb o 63 oy (5 odub S (UL JUio 5>
LS 5o syl G lo (g odub o |y g3guaio Lol g odub 5> ."OP2" 55,3 9 "OP 1 Sy 3l
J ewlgs 5o «uwl 830 oy S "MyExample® (UL .pass o I8 pulily g9y |y iregs g
Sl Cuwdy 2953 B puaS oslaiwl putisly 5> " when“ o)jle
03z 1) S Uit (5900 Jué "e1Se" jgrws g jl o3l oy 2 lis| <030k sl (5 08ub >
DS 50 gLis 585930 43 ) 12j 295 UL gl 3S .33S g3
option Two has been chosen

3 cuwlls (.Generics )oLS pL oy 1) 5500 @haw juiio Cobi GalslS Jijgol « lgl> Jio
ouwgs Sy lgic 6 jgh2 63 (il 9 35S 5o 2l ) SLIS GulslS jghz oS (gl 590 4o (Uibdy 2!
S o3 latiwl LS (g 63l S SIS gl > 4uylS jl poolgs (o oo
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332 5 0519548 g5 ulilS (5 6338 dwgs Lol Cuwlgls oy ooy jliwy SLUS (ol BRI
Casly 6338 dwgs gl g 45 olgS ol ) GulilS gl 3S 15 Cuwl 63,8 920 1) "in“ g "out”
OIS 5
2> ol GalsS s ediab Sy o (Uko 301 iglatio UolS (gl pggao £93 g odab ualilS j>
o YL | GalilS 5> SIS (g 2l (5 0920 goj Jlio uwl g9 Sy <SHiNG> Cuwd o3 b
DD
fun main(args: Array<String>)
{ val integer: Int =1 val number: Number = integer print(number) }
%0 S 09 |y guitio T Uugw 9 ol 63,5 3)lg (aamuo sac) integer” S, b UL gl S s
3D Sl (g3ae (5 odub (g adub o) VINt Lo Cuwl judy ool ol el 035 uatiio gdde
38 (50 3dgi ) 17 5295 g M8l o LS sl 4o H 8395 jgb o €95 T o
0 03 5l 0313 95 I Pt aaho o1 jo Cuwl gy sty GalslS 4> LS 390 4 iy
IS «z090e Jgb oy gy SLUS (g 051 Elw oy Cuwl gy oS eslawl 41381 Py s pasigS
Liwd Jgb 6y &S Cuwl (LJB) template o T oS Cuwl 630 vy yes <T> L LIS (pulslS
S (5 0315 lgsl jI jghz oS Eaiy 5o g2j JUo 43 Cuwlyzl B GolslS 2o (5 00 lyy buugs
S oLt pulslS uwgas soliyr gl g
fun main(args: Array<String>)
{ wvar objet = genericsExample<String>("JAVA") var objet1 =
genericsExample<Int>(10) } class genericsExample<T>(input:T) { init {
printin("l am getting called with the value "+input) } }
w0 031> Yl <T> (5 olwg oy 63 oyl Sl LIS CLiSjL eg5 b adab Sy (UL gl 3S >
038 a5 jlado £95 SLSI L L2l g Giws Jgb oy |y Ulnylado L3058 055 Gl Mo o .3gib
o oSl alilS hjgoT 5> LS 6398 il puidlw o |y 6dub (ol Sguado 83 I s (ol
323 EanlgS 45950 3 Guiygs S5 20 53 38 38 3)lg yazo o | ) 529> - d9b
| am getting called with the value JAVA
| am getting called with the value 10
"OUt” (5 0jlgalS I 3ol oS cuatiio Udgd clgdl I GSo ow b LIS £95 pasleS> o 89
0j1g3dS jl PSS cuaiio inld 95 g 1 S 00 b IS £95 paslgS (50 89 9 S o latiuwl
JSud o g .ol 03,5 aslatuwl "OUt” g 6719aulS jI bo yuj JUio Jd .pusS Lo oslaiwl "in® g
23S oslaiwl "in® g 6j193.S jl 35195 oo Louk
Live Demo
fun main(args: Array<String>)
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{ var objet1 = genericsExample<Int>(10) var object2 =
genericsExample<Double>(10.00) printin(objet1) printin(object2) } class
genericsExample<out T>(input:T) { init { printin("l am getting called with the
value "+input) } }
33 o YLiss JS)950 43 |y ) 529> UL sl S
| am getting called with the value 10
| am getting called with the value 10.0
genericsExample @28d93b30
genericsExample @ 1b6d3586
wSaaulas (Delegation )
Gzl Jl eslatiwl L.33S o Glutidy DY 303 (5 0j195S Sm0 b Sailas 2hb jl gulslS
50905 (5l Mo los 6y 33 50 )11 60T Cw Sy (5 0dub oy GulilS (Saulas Mo b ojlgsalS
sol gzl 3 o Glis joj JGo . uby Guiows S pidio Sguado Sy huugsi bulg So (g 03 12l
281 o 3lasl 039S (yulslS >
Live Demo
interface Base
{ fun printMe() //abstract method } class Baselmpl(val x: Int) : Base { override
fun printMe() { printin(x) } //implementation of the method } class Derived(b:
Base) : Base by b // delegating the public method on the object b fun
main(args: Array<String>) { val b = Baselmpl(10) Derived(b).printMe() //
prints 10 :: accessing the printMe() method }
Baselmpl g edisb 55 .poyls | "()printme” pb o, il seljil sio Ly "Base™ huwlg (JUio o
"by* 5 051958 b Lzl ozl jl o (gxS03g adiab jI gugw g puiS o L2l ) ") printme” ¢l
S (50 038wl
a0 GLiss jS)950 43 ) ) 529> UL sl S
10

390 3 iy ol g> puiSgol "Dy (g 0jl93ulS b Sales ohb Syg0 s JuB iy s
.2)90T 0 ulslS (5 6L lES 55 39290 3 lasliwl gl Mo jl e3laiwl b b o s Saculas
Lo S0 pasy 5> Cunald Sy iy Sus g3 b sdub o Cugiue JEI iwy Saules
‘SJ'N‘S-'-'JIJ;’JLSLQLJ&OJ5°P?!-.‘S°5L‘.’;LWIUL‘?HI_}-?|tsl_}-.JASL'JLo._QJI;;,L!‘" | 6:5ub Ul
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Lazy 35,8 S lambda Sy s s 9)_)_._:3 w0 5399 Ulgic ou ) Cusls Sy oS Cuwl
Jjleages Lazy<T> oS <T> Jlio ou sidiny pgéy [ .3 50 1) Cuwl o3ub o3léiwl yolg> gy
DS 0295 4j-
Live Demo
val myVar: String by lazy { "Hello" } fun main(args: Array<String>) {
printin(myVar +" My dear friend") }
o Iy lado azis > 65 cpudy Lo Jl Lazy 55518 o I "myVar® jusio b (UL gla AS
G0 151950 33 52955 12) 03 331,85 o jb Glal 388 oy 1) Gl g 33S ;0 Luatio b gualo
Hello My dear friend
Delegetion.Observable()
ol 633195138 3,518 oy CiS)L g Sgualio y3S 2l sl 1) JUsiwl 93 ()Observable
ol Saiules sl ()Observable sio jl jghs S puin o J2j JUio J3 383 Lo Pl
oS 85 laiwl
Live Demo
import kotlin.properties.Delegates
class User
{ var name: String by Delegates.observable("Welcome to
Tutorialspoint.com") { prop, old, new -> printin("$old -> $new") } } fun
main(args: Array<String>) { val user = User() user.name = "first" user.name =
"second" }
D3I o Ulgles 6 55930 53 b Juj 52945 UL (sl SS
first -> second
()setg ()get sl sio .cuwl DY (5 63195018 g2l jl s cylae JSuiv o0 gl Uiz «JS Jgb oy
Aol oaud wauyes Saalas wlS s oS ()setValue g()getValue glo sbo o p asio I
SIguh (50 Jato
class Example
{ var p: String by Delegate() }
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class Delegate
{
operator fun getValue(thisRef: Any?, property: KProperty<*>): String {
return "$thisRef, thank you for delegating '${property.name}'to me!"
}
operator fun setValue(thisRef: Any?, property: KProperty<*>, value: String) {
printin("$value has been assigned to '${property.name} in $thisRef.")
}
}
Nio o pahis G > 9 Mg o oxlgdls ()getValue suo o galgd guo o
gl 50 635193148 ()setValue

o ol Ol 53 gl bl s e 355518 6z J3 il Coll gy soly glj Sy galsS
2l 03,8 oslaiwl ks T jl pslso o JUio j3 oS jgb jlos ot Lubl by 335518 L oS
S0 oy S3guato gy 00l sl Glj glj Slo .39 o pUel fun® g ojlgsalS L 5,518
Al jo jo sl 0anjS JUsiwl Cuwd S g GBS )L gg0
S 1) 3,58 gzl Gloal 35,55 jl g paiS 5o wiyyss |) MyFunction pb e (53,518 52j Jbio 5>
S 50 oy b JUsiwl 332 g poslgS 5o
Live Demo
fun main(args: Array<String>) {
printin(MyFunction("tutorialsPoint.com"))
}
fun MyFunction(x: String): String {
var c:String = "Hey!! Welcome To ---"
return (c+x)
}
D3> 5o YL SS90 43 |y 12j 529> UL sl S
Hey!! Welcome To ---tutorialsPoint.com
>S9 plel juj jguo ou 3ol 5518,
fun <nameOfFunction>(<argument>:<argumentType>):<ReturnType>
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35S 6295 4uj JUio oy

Ozl 6w Jaio Sy g ol sislw "mylambda’® pb ou Iy 395 g Lambda b (UL gla 35 o
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-394 50
Live Demo

fun main(args: Array<String>) { val mylambda :(String)->Unit = {s:String-
>print(s)} val v:String = "TutorialsPoint.com" mylambda(v) }

D> o YL SS90 43 | j2j 529> UL sl S
TutorialsPoint.com
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Live Demo

fun main(args: Array<String>) { val mylambda:(String)->Unit = {s:String-

>print(s)} val v:String = "TutorialsPoint.com" myFun(v,mylambda) //passing

lambda as a parameter of another function } fun myFun(a :String, action:

(String)->Unit) { //passing lambda print("Heyyy!!!") action(a)// call to lambda

function }
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Live Demo
fun main(args: Array<String>) {
val s = Student("TutorialsPoint.com","Kotlin")
val (name,subject) =s
printin("You are learning "+subject+" from "+name)
}
data class Student( val a : String,val b: String ){
var name:String=a
var subject:String=b
}
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You are learning Kotlin from TutorialsPoint.com
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{

try {

val myVar:Int=12;

val v:String = "Tutorialspoint.com";
v.tolnt();

} catch(e:Exception) {
e.printStackTrace();

} finally {

printin("Exception Handeling in Kotlin");
}

}
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val myVar:Int = 12;
Exception Handeling in Kotlin
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